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Qs - A
SECTION - A
Fgloeheda 99 : T E. 1 | 14 7 [14 x Y2 =T7]
Multiple choice questions : Q. No. 1 to 14
1) Frafafea § & S o UF TrE SER Fee @ 3 A
(31) g (/) S
(@) @ (3) o
Which one of the following is NOT a key communication skill?
(A) Listening (B) Speaking
(C) Playing (D) Writing
2) frafeiftan ® @ i o s W (A o1 v T 3 [Vl
(31) & (AA) (@) Fren (ad)
(@) T (vgafaea) (3) IeEn (W)
Which of the following is NOT a part of speech?
(A) Noun (B) Verb
(C) Adjective (D) Attitude
3) o= ° fawm (subject) @ ugwm™ i "The children played foot ball" (g foega wig

Feate) [V2]
(a7) 3 foeg @) Fews

(@) = (8) Gesiet

Identify the subject in the sentence, "The children played foot ball".

(A) The children (B) Children played

(C) Played (D) Football
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4) T G T Tl Ueh SHched (R (TEATAS f2H@3mER) 8 39 # Aee W @ g, I/ /-1 HE1

5)

6)

7)

Ry ? [V2]
(37) 3Teh! 929 9 o1 (@) 39 viteh (FeST) H == @
(A) SHH! ARG T H Wag &l (3) I A

Radha is helping her sister to overcome a personality disorder. What should she
do?

(A) Talk to her sister (B) Engage her in hobbies

(C) Help her build confidence (D) All of the above

forelt Isieym @it Tiie A o fotu fore hiaie wiidene st U= ok ST 22 [V2]
(37) e A+ () HeA &+ W

(®) g R+ R (3) g I + T

Which keyboard shortcut is used to print a presentation?

(A) Cul+C (B) Cul+P

(C) Cul+V (D) Cul+X

fFrafafaa @ @ =F @1 v Serht o TR T8 2 [V2]
(37) o et ([) ™ e

(@) wfgen sendt (3) ZTSTe St

Which one of the following is NOT a type of entrepreneurs?

(A) Service entrepreneurs (B) Business entrepreneurs

(C) Women entrepreneurs (D) Fighting entrepreneurs

FreafeRaa o= | gia s (A Sisw) a9a 2 | [V2]
(37) Hw &= () uiteE &=

(|) T HREuT & (3) S A

Green jobs are possible in the following sector(s).

(A) Agriculture sector (B) Transportation sector

(C) Water conservation sector (D) All the above
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8) fereht amgm <R Fran fremareht # s wnfeer 7E grn 27 [Vl
(37) W= (Thaett) it foeaha g (@) wdiermn gfskan
(|) = R R (3) @ESH (THeed) i s
Service manual of vehicle does NOT contain.
(A) Expanded view of assembly (B) Testing procedure
(C) Price of vehicle (D) Assembly procedure
9) uw. Y. uw. 3mE. (MPFI) st gu [V2]
(37) A T WA FHFvH () A T T SvH
(@) e wge W 3HvE (8) Wl wge wel FvH
Full form of MPFI is
(A) Multi Process Fuel Injection (B) Multi Process Fuel Ignition
(C) Multi Point Fuel Ignition (D) Multi Point Fuel Injection
10) FrfeiRaa ® | M F9R JUTER 1 37 T8 3 ? [V2]
(31) = (d) WUeR yTwe
(@) Tt et (3) faves (fewifvre)
Which one of the following is NOT a part of Transmission system?
(A) Clutch (B) Propeller shaft
(C) Steering linkage (D) Differential
11) FraAfeRea ® @ HiF A1 Uk AT (FEUYH) 1 THR TE 87 [V2]
(37) AR (VITeh TaSTeR) (@) U 1 U (e )
(@) F=o (Hige) Bm (3) Ha (Aeerenm)
Which one of the following is NOT a kind of suspension?
(A) Shock absorber (B) Leaf spring
(C) Coil spring (D) Well spring
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12) =it qutrelt < W & SA=Ad d1gd T o THT 3ETS / IR ford Swror 9 98 o T |

[V2]
(1) e form = 2 (F) W IE
(|) geit Feft (3) wafim g
Noisy operation defect of vehicle charging system is NOT possible because of
(A) Belt worn (B) Fuse blown
(C) Loose pulley (D) Worn bearings
13) freaferftaa & & = a1 v Hiaw shvm wone & e @ 2 [Vl
(31) Tk wm (@) 3heA wEA
(@) FeE Fea (Fw i) (3) eh
Which one is NOT a component of coil ignition system?
(A) Spark plug (B) Ignition coil
(C) Suspension coil (D) Battery
14) =g o ATaTRe (TR HEWT) & e & o 78 foran Sran? [V2]

(31) —ace St B i W

(9) HUAW & FTEAE AT HARX IR hl A
(@) eficer o Al (TTs) srereen St |
(3) oA o ufgall o I R A=

Which one is NOT a part of Air conditioning inspection?
(A) Check if V-belt is too loose

(B) Check for any noise around or inside the compressor
(C) Check for the charged state of refrigerant

(D) Check for the pressure in vehicle tyres
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Qg -

SECTION - B

feTgIeHes U9 : U9 H. 15 | 30 7% [16 x Y2 = 8]
Very short answer type questions : Q. No. 15 to 30

T oAt ® Suges visg forRed |

Fill in the blanks with appropriate word.

15) TeRRTeaeh giEeRion, SRE N .o, TS | [V2]
(Gt / gei)

A positive attitude makes a person

(happier / sad)

16) Gfsha &9 | g & o1, Tk =Afh i 1@ & TUh (3TE FCH) covvenveennne. =fge | [Y2]
(SFTC /e / | ==
For active listening, one should eye contact.

(maintain / avoid)

17) ufes (T), W9 (HTeH), A JME covvennnnnennn HUTH ¢ | [V2]
(SRivA | wievie)
Row, Column, cell etc. are the components of

(presentation / spreadsheet)

18) TcTH Ueh huel Therdt T Sl o w9 A AU foem (snsfear) stemmm 2 | vemm U 2

(STl / STV AAfHe)
Salman tries new ideas as a tailor in a garment factory. Salman is a/an

(entrepreneur / unskilled worker)
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19)

20)

21)

22)

TMTERA T H A TAH ... A2 | [V2]
(ATESISH / e SEATFTEE)
Green house gases mainly have

(Nitrogen / Carbon dioxide)

TAHAET T e % FFER A Femreett St 3u=r S aRe | [V2]
(31Tt UEE / aTEa o Weh)
Technician should use service manual as per

(his choice / make of the vehicle)

............... ek Rt fm M R i T T U e & A s @ A e daat 2 |
[V2]

(srafn / fuwes )
is a split ring which fits into a groove of an internal combustion

engine or steam engine.

(Bearing / Piston ring)

ST FoTe | 31 TehR oh FoTell Al GATTH .oveennnnennn. TEEETE ht 3Magarehal gidt 2 | [V2]
(Sarat / ww)
Diaphagram clutch needs maintenance with respect to other type

of clutches.

(more / less)

FreferRaa Toa TR 1 SR T8 AU T | © |

Give your answer in True or False for following question statements.

23)

TTEHI ST N (TFAYH), SIeehi o Sl o TWTE i &1l 2 | (I / o) [V2]

Vehicle suspension increase the effect of shock forces to the vehicle.
(True / False)
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24) srieHETEA VAT TR diea §, 3 (Worm) 7ot gt Ter 9w, 7eH 3R Sere o a1l a1
ekt 2 | (W& / o) [V2]

Worm can make pair with roller shaft, nuts and sector in automobile steering
gear box. (True / False)

25) Suctal (FFR) AR % ufgEt o sdanr (vertical) fufa d gea B 1 (@@ / mem)  [Y4]

Camber is the tilting of the front wheel from the vertical. (True / False)

26) sricrifesw giafavm (vaenfea d@=rur) womelt ®# Wt @ gl @ fiRR sgem ugd #

(&t / o) [2]
In automatic transmission system, the driver has to shift the gears manually.
(True / False)

27) IR wie i guur Tdg W IR WU (S1E) qe1 TRiY @ € | (T / o) [V2]
The frictional surface of the pressure plate has circular lines and scratches.
(True / False)

28) =maf g faft et & Test | e ? | (F R / o) [V2]

Wiring harness method consists of bunches of cables. (True / False)

29) AR W HAESHIE 1 AT R (—) SRUTeHeR 3R e dR (+) YFTcHe: Uel & SISt St 2 |
(T / o) [V2]

Generally in multimeter red lead is connected to negative (—) and black lead is
connected to positive (+) side of the circuit. (True / False)

30) arga ° aiferen forega Suekon & wE % wROT fiE aw SR (SReR) | we i A aed 2
(W&t / o) [V2]

With the increase in installation of electrical equipment in present vehicle, the
demand on direct current generator has increased. (True / False)
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Qug - |

SECTION - C

YIS T94 : T3 9. 31 | 39 7 [9x1=09]
Short answer type questions : Q. No. 31 to 39

31) fefTee Usieym a9M & 10, OSiey |ATereaaR sl ST HiA & FIT—FT BET 87 [1]

What are the advantages of using presentation software to make digital
presentation?

32) uhvmirre (Rewe sifids) a7 ¥ for ffim e & 7w fafeu | 1]

Write the names of various factors to become result oriented.

33) foredl o form forg (varguym wrehw) o1 foeg sATST SR e wam feafam | [1]

Draw the sign of any Four punctuation marks and write their usage.

34) St i fotie fowrvan i | [1]

Write various characteristics of entrepreneurship.

35) diee 3 q9iH U=l 1 Haedt TaeT | [1]

Describe the importance of bolts and machine screws.

36) AR # 21— 3R A-3M3He T T Al THEAE | [1]

With the help of suitable diagram, explain the purpose of Toe-in and Toe-out in
vehicles.
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37) FcTa STEEE i YH: Heud (SNERE) o J&d TRl o | [1]

Write main steps in the overhauling of clutch assembly.

38) arEA it THIT TUTEH! § A FHAFIH <hl STe | 1 TG STl Bl €I T ? [1]

What are the main things to be kept in mind while checking of electrical
connections of lighting system in a vehicle?

39) area SefiEi | uTe WH aTet hig a1 Y, Ik ShRuT SR et fafen | [1]

Write any two defects, its cause and remedies for vehicle batteries.

T ug - 3

SECTION - D

Frerencres w99 : A |, 40 § 42 T [3x2=6]
Essay type questions : Q. No. 40 to 42

40) 1A h! AT 3R TEEE % SRH, o FaAeet s Agca F aR | eeara fofau 1 [2]

Explain in detail about the importance of service manual during repair and
maintenance of vehicle.

FYat/OR

TR ¥ Yide JuTelt 3 i iR T 9 a e i foear @ fora |

Explain the working of cooling system and also explain common defects and
their remedies in vehicle.
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41) Sugeh Fom B wEEa | o o () B Gt 3iR 9 9w w2, forar @ ford |
[2]

With the help of suitable diagram explain the construction of leaf spring and
how it works.

Fgar/OR
IR (Iieh) TISTe AT 1T @ IR TEeh HATEhRT Shl THITIA A ATeA HRUT SRl U e |

What are shock absorbers. Explain various factors that affects the life of shock
absorber.

42) Tl q =t forear & wweTE ¢ [2]
i) EH e (vt
ii) forega gem AW
iii) 3oa uq
Explain any Two in detail :
1)  Horn assembly
i1)  Electrical fuel gauge
1i1) Fuel pump
31gEr/OR

T Uddeh Afche ARG (TS Ufche SRAUM) 3T IHh Ueh! okl A= 9UH & |

Draw and explain self starter circuit diagram and its components.

636 5h
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